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Real Life Maths Questions

Pim has 52 sweets. He shared them between 4 people. How 
many sweets does each person get?

Pim has 26 oranges. He puts them into 2 boxes. How many 
oranges are in each box? 

Pim has 36kg of sand. He makes 3 piles. How much does each 
pile weigh?

What is 60 shared by 4?

A book costs £5. Pim has £70. How many books can he buy?

Remember to:

•	 think of 10 lots
•	 see how many more there are
•	 add on how many lots this is too
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Real Life Maths Answers

Each person gets 13 sweets.

There are 13 oranges in each box.

Each pile weighs 12kg.

The answer is 15.

He can buy 14 books.

Pim has 52 sweets. He shared them between 4 people. How 
many sweets does each person get?

Pim has 26 oranges. He puts them into 2 boxes. How many 
oranges are in each box? 

Pim has 36kg of sand. He makes 3 piles. How much does each 
pile weigh?

What is 60 shared by 4?

A book costs £5. Pim has £70. How many books can he buy?

Remember to:

•	 think of 10 lots
•	 see how many more there are
•	 add on how many lots this is too


